
READING COMPREHENSIONS_35 

 

A. The reasons for their happiness was that they had come to the Vithal templeof 
Pandharpur to see their beloved Lord. 

B. There were rich, poor men, women, children, blind, handicapped amongthem. 

C. They were all in a very happy state of mind, as was apparent from theirglowing faces. 

D. They would worship and seek the Divine blessings while in Pandharpur. 

E. It was an auspicious day and many people had assembled in the temple. 

F. Though different there was one commonality among. 

1. Which of the following should be the Fourth statement afterrearrangement? 

a) A  

b) B  

c) C 

d) D 

2. Which of the following should be the Fifth statement afterrearrangement? 

a) A  

b) B  

c) C 

d) D 

3. Which of the following should be the Sixth statement afterrearrangement? 

a) A  

b) B  

c) C 

d) D 

4. Which of the following should be the First statement afterrearrangement? 

a) A  



b) B  

c) C 

d) E 

5. Which of the following should be the Second statement afterrearrangement? 

a) A  

b) B  

c) C 

d) D 

Which of the phrases given below should be replaced the phrase given in bold in the 
sentence to make the sentence grammatically meaningful and correct? 

6. There are lot many opportunities for young IT graduates today. 

a) Lot many of 

b) Very many of 

c) Lots of 

d) No correct required 

7. Along the course off his carrer, he has established a reputation forefficiency. 

a) In the course off 

b) During the course of 

c) While the course of 

d) No correct required 

8. It is much likely his train has been delayed due to bad weather. 

a) Quite likely that 

b) Mostly like that 

c) Much likely that 

d) No correct required 

9. He answered every question put on him frankly. 



a) Put for him 

b) Put to him 

c) Put by himself 

d) Putting on him 

10. The engineers have been working overtime, but have been not ableto locate the 
fault. 

a) Have not been unable 

b) Are not unable 

c) Have been unable 

d) No correct required 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Answer:- 

 

1. Option C 

2. Option D 

3. Option B 

4. Option D 

5. Option A 

6. Option C 

7. Option B 

8. Option A 

9. Option B 

10. Option C 

 


